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QUESTION 1

Which two functions are performed by a listener? 

A. creating a user session in the System Global Area (SGA) 

B. verifying the service name in an incoming user request 

C. verifying a user\\'s authentication credentials 

D. maintaining the connection to a client\\'s user process until the user request is completed 

E. returning the results of processing from the server process to the user process 

F. connecting a user process to a server process 

Correct Answer: EF 

 

 

QUESTION 2

Which two are segment types? (Choose two.) 

A. table partition 

B. materialized views on a prebuilt container 

C. stored procedure 

D. sequence 

E. table 

F. view 

Correct Answer: AE 

Reference: http://www.adp-gmbh.ch/ora/concepts/segments.html 

 

QUESTION 3

Which two are true about Oracle database wait events that are described in V$EVENT_NAME? (Choose two.) 

A. They reveal the cause of performance problems. 

B. They are grouped into classes. 

C. They are maintained at the session and system level. 

D. They display how often a database instance performs particular operations. 
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E. All events might be used by an instance regardless of parameter settings. 

Correct Answer: AB 

Reference: https://docs.oracle.com/cd/B28359_01/server.111/b28320/dynviews_1117.htm#REFRN30079 

 

QUESTION 4

Which two are true about complete recovery? (Choose two.) 

A. The database must have FLASHBACK enabled in order to perform it. 

B. It is possible only when the database is in MOUNT state 

C. Uncommitted transactions will be rolled back after it completes. 

D. Incremental backups can be used to roll forward the database while performing it. 

E. Only RMAN backupsets can be used to restore a database as part of it. 

Correct Answer: AB 

 

QUESTION 5

In the ORCL database, DEFERRED_SEGMENT_CREATION is FALSE. 

Examine this command: 

Which table segments are created? 

A. T1 and an index segment created for the primary key only 

B. T1, an index segment for the primary key, a LOB segment, and lobindex segment 

C. T1 only 

D. T1, an index segment for the primary key, and a LOB segment only 

Correct Answer: D 
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